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Determining Reasonable Answer Name:
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1.
» Anything times5 HASto end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2.
» Anything times 10 HAStoend in aO. Ex. 10x7=70 10x16=160 3.
\ /
4.
1) 967x2=1,935 2) 114x10=1,140
5.
3) 10x187=1,879 4) 245 x 10 = 2,456 6.
7.
5 10x416=4,168 6) 10 x 308 =3,083
8.
7) 5x122=612 8) 2x842=1,685 9.
10.
9) 2x340=680 10) 5x 869 = 4,345
11.
11) 159x5=795 12) 282x5=1413 12
13.
13) 5x509=2,547 14) 412 x10=4,120 u
15.
15) 10x 802 = 8,020 16) 491 x 2 =982
16.
17) 2x837=1,675 18) 5x284=1,420 17,
18.
19) 687x2=1374 20) 5x152=761
19.
20.
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Determining Reasonable Answer Name: Answer Key
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1 no
» Anything times5 HAS to end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2. Yes
« Anything times 10 HAS to end in a 0. Ex. 10x7=70 10 x 16 =160 3. no
L J
4. no
1) 967 x2=1,935 2) 114x10=1,140
5. no
3) 10x187=1,879 4) 245x 10=2,456 6 no
7. no
5) 10x 416 =4,168 6) 10 x 308 = 3,083
8. no
7) 5x122=612 8) 2x842=1,685 9. yes
10. YES
9) 2x340=680 10) 5x 869 = 4,345
11. YES
11) 159 x5=795 12) 282x5=1,413 12 no
13. no
13) 5x509 = 2,547 14) 412 x 10=4,120
) ) 14. yes
15. YES
15) 10x 802 = 8,020 16) 491 x 2 =982
16. YES
17) 2x837=1,675 18) 5x284=1,420 17 no
18. YES
19) 687 x2=1,374 20) 5x152=761
19. YES
20. no
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